

COUNTY OF PLACER, AUBURN, CA BID TABULATION & NOTICE OF INTENT TO AWARD

Bid Number: 20299

 Title:
 ROADWAY RUBBERIZED HOT MIX ASPHALT OVERLAY & SURFACE TREATMENT PROJECT

 Bid Close Date:
 8/2/2022 @ 11:00am

Buyer Name: Tim Pratt Phone: 530-889-4256

(Intended award is highlighted) All-American Construction, Inc. A. Teichert & Son, Inc. Martin Brothers Construction Name of Firm Live Oak, CA Sacramento, CA City/State Roseville, CA Contact Person **Elizabeth Stokes** Eric Stannard Connie Davis Telephone 530-617-5111 916-757-6400 916-381-0911 x-135 Email Address @all-americanconstructioninc.co estimating@teichert.com estimating@martinbrothers.net **Total Bid Price** \$3,095,545.90 \$3,338,775.00 \$3,739,200.00 Bid security submitted Yes Yes Yes Bid security is 10% of total bid amount Yes Yes Yes Bid Security type (bond, cashier's check, cash) Bond Bond Bond Original Bid Bond Received - Due by 8/4/22 @ 11:00am Yes Yes Yes Bid bond is signed by bidder and notarized Yes Yes Yes Bid bond is signed by surety, notarized & includes Power of Attorney Yes Yes Yes ¹ Bid bond surety is an admitted CA insurer Yes Yes Yes Noncollusion Affidavit signed Yes Yes Yes Certification of Nondiscrimination in Employment signed Yes Yes Yes ² Bidder has a valid Contractor's License Yes Yes Yes ² All subcontractors have valid CSLB Licenses Yes ³ Bidder is registered with the DIR Yes Yes Yes ³ Subcontractors are registered with the DIR Yes Bidder's business entity type verified and in active status Yes Debarment check (contractor) no debarment Debarment check (subcontractors) no debarment

EVALUATION NOTES:

¹ Verified at the California Department of Insurance website: https://interactive.web.insurance.ca.gov/companyprofile/companyprofile?event=companyProfile

² Verified at the Contractors State License Board website: <u>https://www2.cslb.ca.gov/OnlineServices/CheckLicenseII/CheckLicense.aspx</u>

³ Verified at the Department of Industrial Relations website: https://cadir.force.com/ContractorSearch

⁴ Verified at the California Secretary of State website: <u>https://businesssearch.sos.ca.qov/</u>

⁵ Verified at the Department of Industrial Relations website: <u>http://www.dir.ca.gov/dlse/debar.html</u>



Procurement Services Division 2964 Richardson Drive • Auburn, CA 95603 (530) 886-2122

20299 - 2022 ROADWAY RUBBERIZED HOT MIX ASPHALT OVERLAY & SURFACE TREATMENT PROJECT

Opening Date: July 8, 2022 3:00 PM

Closing Date: August 2, 2022 11:00 AM

To ensure a complete and timely response, it is strongly recommended that you submit your bid response via our Online Bidding System. However, if you have difficult submitting your bid online or prefer to submit your bid manually (hard-copy) for any reason, print and complete this bid package along with any required bid documents, and mail or deliver in a sealed envelope to:

Placer County Procurement Services Division

2964 Richardson Drive

Auburn, CA 95603

All bids must be submitted on original documents (no fax bids) prior to the Closing Date and Time specified above and as prescribed in this bid's General Terms and Conditions. All bids must be signed by an authorized representative of the firm. UNSIGNED OR LATE BIDS WILL BE REJECTED.

Vendors shall complete the area below for hard copy submissions:

COMPANY NAME:		,
Mailing Address:		
City/State/Zip:		
Contact Person:		
Telephone:		
Email:		
SIGNATURE:		
DATE:		
Title:		
ature above, bidder hereby a	agrees to and accepts the terms, conditions and requirements spe	cified in this bid

By signature above, bidder hereby agrees to and accepts the terms, conditions and requirements specified in this bid including the following bid documents and all related addenda (if any).

Vendor Details

Company Name:	All-American Construction, Inc.
Does your company conduct business under any other name? If yes, please state:	No
Address:	P.O. Box 635 2048 Paseo Road Live Oak, CA 95953
Contact:	Elizabeth Stokes
Email:	liz@all-americanconstructioninc.com
Phone:	530-617-5111
Fax:	530-267-5236
HST#:	27-2524676

Submission Details

Created On:	Friday July 15, 2022 08:47:02
Submitted On:	Tuesday August 02, 2022 10:42:52
Submitted By:	Elizabeth Stokes
Email:	liz@all-americanconstructioninc.com
Transaction #:	f8134609-2f83-4567-a39f-a976c5a7a8b9
Submitter's IP Address:	66.255.233.156

Area 1: Western Placer County

INSTRUCTIONS:

- Asterisk (*) denotes a Mandatory field.
- Do not enter \$0.00 unless you are offering the item at no cost, or it is otherwise included in your total cost.

Pursuant to the Notice to Bidders, and in compliance with the bid instructions, having reviewed the Bid Documents and specifications, the undersigned hereby proposes to furnish all labor, tools, materials, transportation, equipment, services and other means of construction necessary for 2021 Roadway Hot Mix Asphalt Overlay Project for the unit prices listed below.

Line Item	P-F-W	Bid Item No.	Bid Item Description	Unit of Measure	Estimated Quantity	Unit Price *	Extended Amount
1		120100	TRAFFIC CONTROL SYSTEM (AREA 1)	LS	1	\$31,000.0000	\$ 31,000.00
2		128651	PORTABLE CHANGEABLE MESSAGE SIGN (AREA 1)	EA	3	\$850.0000	\$ 2,550.00
3		130200	WATER POLUTION CONTROL PROGRAM	LS	1	\$1,100.0000	\$ 1,100.00
4		398200	COLD PLANE ASPHALT CONCRETE PAVEMENT	SQYD	4040	\$4.1600	\$ 16,806.40
5		393004A	GLASGRID (GG8501)	SQYD	11200	\$6.5000	\$ 72,800.00
6		390135	HOT MIX ASPHALT (LEVELING)	TON	235	\$165.0000	\$ 38,775.00
7		390137	RUBBERIZED HOT MIX ASPHALT (GAP GRADED 1/2" PG 64-16)	TON	2000	\$167.0000	\$ 334,000.00
8		12743	4" THERMOPLASTIC TRAFFIC STRIPE	LF	260	\$1.2500	\$ 325.00
9		846009	8" THERMOPLASTIC TRAFFIC STRIPE	LF	9932	\$1.7500	\$ 17,381.00
10		840516	THERMOPLASTIC PAVEMENT MARKINGS	SQFT	858	\$4.5000	\$ 3,861.00
11		870111	INDUCTIVE LOOP DETECTOR	EA	6	\$2,690.0000	\$ 16,140.00
12		378000A	TYPE 2 MICROSURFACE	TON	483	\$443.0000	\$ 213,969.00
13		370000A	ASPHALT RUBBER CHIP SEAL	SY	89190	\$6.6500	\$ 593,113.50
14		780258	ADJUST MANHOLE FRAME AND COVER	EA	23	\$1,800.0000	\$ 41,400.00
15		710208	ADJUST VALVE FRAME AND COVER TO GRADE	EA	17	\$1,275.0000	\$ 21,675.00
16		999990	MOBILIZATION (AREA 1)	LS	1	\$46,500.0000	\$ 46,500.00
						Subtotal	: \$ 1,451,395.90

Area 2: Eastern Placer County

INSTRUCTIONS:

- Asterisk (*) denotes a Mandatory field.
- Do not enter \$0.00 unless you are offering the item at no cost, or it is otherwise included in your total cost.

Pursuant to the Notice to Bidders, and in compliance with the bid instructions, having reviewed the Bid Documents and specifications, the undersigned hereby proposes to furnish all labor, tools, materials, transportation, equipment, services and other means of construction necessary for 2021 Roadway Hot Mix Asphalt Overlay Project for the unit prices listed below.

Line Item	P-F-W	Bid Item No.	Bid Item Description	Unit of Measure	Estimated Quantity	Unit Price *	Extended Amount
1		120100	TRAFFIC CONTROL SYSTEM (AREA 2)	LS	1	\$28,000.0000	\$ 28,000.00
2		128651	PORTABLE CHANGEABLE MESSAGE SIGN (AREA 2)	EA	3	\$1,100.0000	\$ 3,300.00
3		130200	WATER POLUTION CONTROL PROGRAM	LS	1	\$1,100.0000	\$ 1,100.00
4		398200	COLD PLANE ASPHALT CONCRETE PAVEMENT	SQYD	2400	\$12.5000	\$ 30,000.00
5		393004	GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING FABRIC)	SQYD	57000	\$1.9000	\$ 108,300.00
6		390000A	FIBER REINFORCED HOT MIX ASPHALT (TYPE A - 1/2" PG 64-28)	TON	7420	\$177.5000	\$ 1,317,050.00
7		780258	ADJUST MANHOLE FRAME AND COVER	EA	37	\$1,500.0000	\$ 55,500.00
8		710208	ADJUST VALVE FRAME AND COVER TO GRADE	EA	57	\$1,200.0000	\$ 68,400.00
9		710208	ADJUST DRAINAGE INLET / COM VAULT FRAME AND COVER TO GRADE	EA	3	\$2,500.0000	\$ 7,500.00
10		999990	MOBILIZATION (AREA 2)	LS	1	\$25,000.0000	\$ 25,000.00
						Subtotal:	\$ 1,644,150.00

Summary Table

Bid Form	Amount
Area 1: Western Placer County	\$ 1,451,395.90
Area 2: Eastern Placer County	\$ 1,644,150.00
Subtotal Contract Amount:	\$ 3,095,545.90

List of Proposed Substitutions

Pursuant to Public Contract Code Section 3400, the following substitutions are proposed as "Equals" for those set forth in the Contract. All data substantiating the proposed substitutions shall be submitted to the County upon request.

Contract Section *		Name and Manufacturer of Proposed Product To Be Substituted *	Model/Quantity of Proposed Product *
N/A	N/A	N/A	N/A

Contractor License and PWC Registration Numbers

Contractor License

The successful bidder shall possess a valid Contractor License issued by the State of California at the time of opening of the bids and for the duration of the contract. Provide your license information below.

Department of Industrial Relations Public Works Contractor (PWC) Registration

All contractors and subcontractors who bid on public works projects must be registered with the Department of Industrial Relations, pursuant to Labor Code section 1725.5.

Provide your PWC registration number below.

License Type *	License Number *	License Expiration Date *	PWC (DIR) Registration Number *	
А&В	948762	06/30/2024	100004065	*

List of Subcontractors

Enter firm name, city, state, California contractor license number, and public works contractor registration number for each subcontractor performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104). If no subcontractors will be used, enter "None".

Line Ite	em Business Name Loca	ation City State	e California	Contractor License Public Works Contractor DIR Reg	gistration Number DBE (Y/N)
1	Bob's Tree Company Wei	mar CA	1234567	98765432	Yes

1	Bob's Tree Compar	ıy Weimar	CA	1234567	98765432
2	Ben's Paving	Penryn	CA	99991010	53074535

Line Item	Business Name *	Location City *	State *	California Confractor Liconso Number *	Public Works Contractor DIR Registration Number *
1	Anrak Corporation	Sacramento	CA	256390	100002952
2	Pacific Excavation Inc.	Elk Grove	CA	694400	100000188
3	Pacific Northwest Oil	Sacramento	CA	705296	1000377635
4	Pavement Coatings Co.	Sacramento	CA	303609	100003382
5	Chrisp Company	Woodland	CA	374600	100000306

No

Portion of Work Subcontracted

Enter firm name, bid item numbers, percentage of each bid item numbers, and description of work for each of your subcontractors performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104).

Item Field:

• Enter single bid item numbers and percentage of bid item performed by subcontractor on each line of the Subcontractor List. Do not enter words in the Item Number field.

Description Field:

- If the percentage of the bid item work is less than 100%, list the description of the portion of work to be subcontracted (Eg. tree removal portion of clear and grub Bid Item 1).
- List sequential items that are 100% in a range as follows: Items 77-80.
- List non-sequential items that are 100% in a list separatated by commas as follows: Items 95, 97, 99.
- If no subcontractors will be used for this project, enter "None".

Subcontractor	Item	Percentage (%)	Description
Bob's Tree Co	. 1	50%	Tree Removal
Ben's Paving	23-35, 37, 39, 41	100%	

Subcontractor *	Item *	Percentage (%) *	Description *
Anrak Corporation	#4	73	Cold Plane Asphalt Concrete Pavement.
Anrak Corporation	#19	64	Cold Plane Asphalt Concrete Pavement
Pacific Excavation Inc	#10	100	Inductive Loop Detector
Pacific Northwest Oil	#5	100	Glasgrid
Pacific Northwest Oil	#20	100	Paving Fabric
Pavement Coatings Co.	#1	51	Traffic Control System (Area 1)
Pavement Coatings Co.	#11	90	Type 2 Microsurfacing
Pavement Coatings Co.	#12	90	Asphalt Rubber Chipseal
Pavement Coatings Co.	#15	65	Mobilization
Chrisp Company	#1	0.6	Traffic Control for Chrisp Company
Chrisp Company	#7	100	4" Thermoplastic Traffic Stripe
Chrisp Company	#8	100	8" Thermoplastic Traffic Stripe
Chrisp Company	#9	100	Thermoplastic Pavement Markings
Chrisp Company	#15	0.5	Mobilization (Area 1)

Documents

Upload the forms described below.

- Non-Collusion Affidavit Placer County Non Colllusion Affidavit.pdf Monday August 01, 2022 17:27:40
- Public Contract Code Statement Placer County Public Contract Code.pdf Monday August 01, 2022 17:36:11
- Equal Employment Opportunity Certificate Placer County EEO Cert.pdf Monday August 01, 2022 17:29:15
- Debarment and Suspension Certification Placer County Debarment and Suspension Cert.pdf Monday August 01, 2022 17:29:47
- Bid Security Election Form Placer County Bid Security Election Form.pdf Monday August 01, 2022 17:29:34
- Additional Document (optional)

BID SECURITY

In accordance with California Public Contract Code Section 20129, all bids shall be accompanied by Bid Security. The Bid Security may consist of cash, cashier's check made payable to the County, certified check made payable to the County, or a Bid Bond executed by an admitted surety insurer made payable to Placer County.

The amount of the Bid Security shall not be less than ten percent (10%) of the total amount of the bid. For the purposes of this Section, "the amount of the bid" does not include alternates, if any. The signature of the Surety on the Bid Bond shall be notarized and accompanied by a duly authorized Power of Attorney as evidence of his/her authority, if executing as attorney-in-fact for the Surety.

The cash, cashier's check, certified check or Bid Bond shall be given as a guarantee that the successful bidder will enter into a written contract within ten (10) days after being requested to do so and will be considered as the stipulated amount of liquidated damages in the event the bidder is unable to or refuses to execute a contract for the work. Upon an award to the successful bidder, the security of unsuccessful bidders shall be returned in a reasonable period of time.

Electronic Bid Submissions:

If the bidder elects to submit an electronic bid response, the following documents must be attached to the electronic bid response in bids&tendersTM:

- Bid Security Election Form (required for all electronic submissions)
- Scanned copy of the Bidder's executed Bid Bond (required if not submitting cash, cashier's check, certified check or digital Bid Bond). **SEE BELOW**
- Scanned copy of Cashier's Check or Certified Check (required if not submitting a Bid Bond, Digital Bid Bond or cash). **SEE BELOW**
- Digital Bid Bond (required if not submitting cash, cashier's check, certified check or scanned Bid Bond)
- Power of Attorney (required for Bid Bonds if signature of Surety is executing as attorney-in-fact for the Surety)
- Notary Documentation (required for all Bid Bonds)

**The cash, original cashier's check, original certified check, or original executed bid bond must be received at the Office of Procurement Services at 2964 Richardson Drive, Auburn, CA 95603, NOT LATER THAN 48 HOURS AFTER THE BID CLOSING TIME, excluding weekends and County holidays. Bid security shall be submitted in a sealed envelope addressed to the Procurement address above with the Project name and Bid number identified. The security type submitted by the bidder must match the security type indicated by the bidder on the Bid Security Election Form. MISMATCHED SECURITY TYPES OR FAILURE TO SUBMIT THE REQUIRED INFORMATION BY THE DEADLINE SPECIFIED ABOVE WILL RENDER YOUR BID NON-RESPONSIVE.

The information on the original bid bond including, but not limited to, surety, dates, names, signatures, power of attorney and notary documentation must match the information on the bid bond copy that was submitted with the electronic bid response. DISCREPANCIES BETWEEN THE ORIGINAL BID BOND AND COPY MAY RENDER YOUR BID NON-RESPONSIVE.

Hard Copy Bid Submissions:

If the bidder elects to submit a hard copy bid response, the Bid Security (cash, cashier's check, certified check or original executed Bid Bond) must be enclosed with the sealed bid. Bidders who submit hard copy bid responses in lieu of electronic bid submissions are not required to submit the Bid Security Election Form.

• Bid Bond / Security - Placer County - Bid Bond.pdf - Monday August 01, 2022 17:52:11

Addenda, Terms and Conditions

I acknowledge that I have the authority to bind the Company and submit this bid on behalf of the Company. - Derrek Stokes, Vice President, All-American Construction, Inc.

The Applicant declares that there is an actual or potential Conflict of Interest relating to the preparation of its submission, and/or the Applicant foresees an actual or potential Conflict of Interest in performing the contractual obligations contemplated in the bid. **Yes No**

The Bidder acknowledges and agrees that the addendum/addenda below form part of the Bid Document

Please check the box in the column "I have reviewed this addendum" below to acknowledge each of the addenda.

File Name	I have reviewed the below addendum and attachments (if applicable)	Pages
Addendum 2 Tue July 26 2022 01:30 PM	R.	9
Addendum 1 Wed July 20 2022 01:38 PM	Ter.	1



Procurement Services Division 2964 Richardson Drive • Auburn, CA 95603 (530) 886-2122

20299 - 2022 ROADWAY RUBBERIZED HOT MIX ASPHALT OVERLAY & SURFACE TREATMENT PROJECT

Opening Date: July 8, 2022 3:00 PM

Closing Date: August 2, 2022 11:00 AM

To ensure a complete and timely response, it is strongly recommended that you submit your bid response via our Online Bidding System. However, if you have difficult submitting your bid online or prefer to submit your bid manually (hard-copy) for any reason, print and complete this bid package along with any required bid documents, and mail or deliver in a sealed envelope to:

Placer County Procurement Services Division

2964 Richardson Drive

Auburn, CA 95603

All bids must be submitted on original documents (no fax bids) prior to the Closing Date and Time specified above and as prescribed in this bid's General Terms and Conditions. All bids must be signed by an authorized representative of the firm. UNSIGNED OR LATE BIDS WILL BE REJECTED.

Vendors shall complete the area below for hard copy submissions:

COMPANY NAME:		-
Mailing Address:		
City/State/Zip:		
Contact Person:		-
Telephone:		
Email:		
SIGNATURE:		
DATE:		
Title:		-
	agrees to and accepts the terms, conditions and requirements spe e following bid documents and all related addenda (if any).	cified in this bid,

Vendor Details

Company Name:	A. Teichert & Son, Inc.
Does your company conduct business under any other name? If yes, please state:	Teichert Construction
Address:	400 Sunrise Ave Suite 300 Roseville, CA 95661
Contact:	Eric Stannard
Email:	estimating@teichert.com
Phone:	916-757-6400
Fax:	916-757-6499
HST#:	

Submission Details

Created On:	Tuesday July 12, 2022 14:07:14
Submitted On:	Tuesday August 02, 2022 10:39:57
Submitted By:	Eric Stannard
Email:	estimating@teichert.com
Transaction #:	0598759c-ec1b-4f31-b873-a317276128ef
Submitter's IP Address:	204.154.221.46

Area 1: Western Placer County

INSTRUCTIONS:

- Asterisk (*) denotes a Mandatory field.
- Do not enter \$0.00 unless you are offering the item at no cost, or it is otherwise included in your total cost.

Pursuant to the Notice to Bidders, and in compliance with the bid instructions, having reviewed the Bid Documents and specifications, the undersigned hereby proposes to furnish all labor, tools, materials, transportation, equipment, services and other means of construction necessary for 2021 Roadway Hot Mix Asphalt Overlay Project for the unit prices listed below.

Line Item	P-F-W	Bid Item No.	Bid Item Description	Unit of Measure	Estimated Quantity	Unit Price *	Extended Amount
1		120100	TRAFFIC CONTROL SYSTEM (AREA 1)	LS	1	\$75,000.0000	\$ 75,000.00
2		128651	PORTABLE CHANGEABLE MESSAGE SIGN (AREA 1)	EA	3	\$5,500.0000	\$ 16,500.00
3		130200	WATER POLUTION CONTROL PROGRAM	LS	1	\$2,900.0000	\$ 2,900.00
4		398200	COLD PLANE ASPHALT CONCRETE PAVEMENT	SQYD	4040	\$6.0000	\$ 24,240.00
5		393004A	GLASGRID (GG8501)	SQYD	11200	\$6.0000	\$ 67,200.00
6		390135	HOT MIX ASPHALT (LEVELING)	TON	235	\$180.0000	\$ 42,300.00
7		390137	RUBBERIZED HOT MIX ASPHALT (GAP GRADED 1/2" PG 64-16)	TON	2000	\$160.0000	\$ 320,000.00
8		12743	4" THERMOPLASTIC TRAFFIC STRIPE	LF	260	\$1.2500	\$ 325.00
9		846009	8" THERMOPLASTIC TRAFFIC STRIPE	LF	9932	\$1.7500	\$ 17,381.00
10		840516	THERMOPLASTIC PAVEMENT MARKINGS	SQFT	858	\$4.5000	\$ 3,861.00
11		870111	INDUCTIVE LOOP DETECTOR	EA	6	\$900.0000	\$ 5,400.00
12		378000A	TYPE 2 MICROSURFACE	TON	483	\$493.0000	\$ 238,119.00
13		370000A	ASPHALT RUBBER CHIP SEAL	SY	89190	\$6.1000	\$ 544,059.00
14		780258	ADJUST MANHOLE FRAME AND COVER	EA	23	\$1,200.0000	\$ 27,600.00
15		710208	ADJUST VALVE FRAME AND COVER TO GRADE	EA	17	\$1,200.0000	\$ 20,400.00
16		999990	MOBILIZATION (AREA 1)	LS	1	\$140,000.0000	\$ 140,000.00
						Subtotal	\$ 1,545,285.00

Area 2: Eastern Placer County

INSTRUCTIONS:

- Asterisk (*) denotes a Mandatory field.
- Do not enter \$0.00 unless you are offering the item at no cost, or it is otherwise included in your total cost.

Pursuant to the Notice to Bidders, and in compliance with the bid instructions, having reviewed the Bid Documents and specifications, the undersigned hereby proposes to furnish all labor, tools, materials, transportation, equipment, services and other means of construction necessary for 2021 Roadway Hot Mix Asphalt Overlay Project for the unit prices listed below.

Line Item	P-F-W	Bid Item No.	Bid Item Description	Unit of Measure	Estimated Quantity	Unit Price *	Extended Amount
1		120100	TRAFFIC CONTROL SYSTEM (AREA 2)	LS	1	\$96,000.0000	\$ 96,000.00
2		128651	PORTABLE CHANGEABLE MESSAGE SIGN (AREA 2)	EA	3	\$5,500.0000	\$ 16,500.00
3		130200	WATER POLUTION CONTROL PROGRAM	LS	1	\$2,000.0000	\$ 2,000.00
4		398200	COLD PLANE ASPHALT CONCRETE PAVEMENT	SQYD	2400	\$18.0000	\$ 43,200.00
5		393004	GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING FABRIC)	SQYD	57000	\$2.0500	\$ 116,850.00
6		390000A	FIBER REINFORCED HOT MIX ASPHALT (TYPE A - 1/2" PG 64-28)	TON	7420	\$170.0000	\$ 1,261,400.00
7		780258	ADJUST MANHOLE FRAME AND COVER	EA	37	\$1,100.0000	\$ 40,700.00
8		710208	ADJUST VALVE FRAME AND COVER TO GRADE	EA	57	\$800.0000	\$ 45,600.00
9		710208	ADJUST DRAINAGE INLET / COM VAULT FRAME AND COVER TO GRADE	EA	3	\$2,500.0000	\$ 7,500.00
10		999990	MOBILIZATION (AREA 2)	LS	1	\$163,740.0000	\$ 163,740.00
	Subtotal: \$ 1,793,490.00						

Summary Table

Bid Form	Amount
Area 1: Western Placer County	\$ 1,545,285.00
Area 2: Eastern Placer County	\$ 1,793,490.00
Subtotal Contract Amount:	\$ 3,338,775.00

List of Proposed Substitutions

Pursuant to Public Contract Code Section 3400, the following substitutions are proposed as "Equals" for those set forth in the Contract. All data substantiating the proposed substitutions shall be submitted to the County upon request.

Contract Section *		Name and Manufacturer of Proposed Product To Be Substituted *	Model/Quantity of Proposed Product *
N/A	N/A	N/A	N/A

Contractor License and PWC Registration Numbers

Contractor License

The successful bidder shall possess a valid Contractor License issued by the State of California at the time of opening of the bids and for the duration of the contract. Provide your license information below.

Department of Industrial Relations Public Works Contractor (PWC) Registration

All contractors and subcontractors who bid on public works projects must be registered with the Department of Industrial Relations, pursuant to Labor Code section 1725.5.

Provide your PWC registration number below.

License Type *	License Number *	License Expiration Date *	PWC (DIR) Registration Number *	
A, B, C16, C22, C27, C- 61/D49	8	4/30/23	1000002575	*

List of Subcontractors

Enter firm name, city, state, California contractor license number, and public works contractor registration number for each subcontractor performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104). If no subcontractors will be used, enter "None".

Line Item Business NameLocation City State California Contractor License Public Works Contractor DIR Registration Number DBE (Y/N)1Bob's Tree Company WeimarCA123456798765432Yes2Ben's PavingPenrynCA9999101053074535No

Line Item	Business Name *	Location City *	State *		Public Works Contractor DIR Registration Number *
1	PAVEMENT COATINGS CO	JURUPA VALLEY	CA	303609	1000003382
2	CHRISP COMPANY	FREMONT	CA	374600	100000306
-	KENT'S OIL SERVICE DBA PACIFIC NORTHWEST OIL	STOCKTON	CA	705296	1000377635

Portion of Work Subcontracted

Enter firm name, bid item numbers, percentage of each bid item numbers, and description of work for each of your subcontractors performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104).

Item Field:

• Enter single bid item numbers and percentage of bid item performed by subcontractor on each line of the Subcontractor List. Do not enter words in the Item Number field.

Description Field:

- If the percentage of the bid item work is less than 100%, list the description of the portion of work to be subcontracted (Eg. tree removal portion of clear and grub Bid Item 1).
- List sequential items that are 100% in a range as follows: Items 77-80.
- List non-sequential items that are 100% in a list separatated by commas as follows: Items 95, 97, 99.
- If no subcontractors will be used for this project, enter "None".

Subcontractor	Item	Percentage (%)	Description
Bob's Tree Co	. 1	50%	Tree Removal
Ben's Paving	23-35, 37, 39, 41	100%	

Subcontractor *	Item *	Percentage (%) *	Description *
PAVEMENT COATINGS CO	11,12	100%	Chip Seal & Microsurfacing
PAVEMENT COATINGS CO	1	21.33%	Traffic Control for Chip Seal & Microsurfacing Subcontractor
PAVEMENT COATINGS CO	15	21.43%	Mobilization for Chip Seal & Microsurfacing Subcontractor
CHRISP COMPANY	7-9	100%	Striping & Markings
CHRISP COMPANY	1	2.67%	Traffic Control for Striping & Markings Subcontractor
CHRISP COMPANY	15	1.43%	Mobilization for Striping & Markings Subcontractor
KENT'S OIL SERVICE DBA PACIFIC NORTHWEST OIL	5,20	100%	Pavement Fabric

Documents

Upload the forms described below.

- Non-Collusion Affidavit Non Collusion Affidavit.pdf Monday August 01, 2022 13:46:25
- Public Contract Code Statement Public Contract Code Statement.pdf Monday August 01, 2022 13:47:06
- Equal Employment Opportunity Certificate Equal Employment Opportunity Certificate.pdf Tuesday August 02, 2022 10:32:36
- Debarment and Suspension Certification Debarment and Suspension Certification.pdf Monday August 01, 2022 13:48:09
- <u>Bid Security Election Form</u> Bid Security Election Form.pdf Monday August 01, 2022 13:48:45
- Additional Document Subcontractors Bid Item Numbering.pdf Tuesday August 02, 2022 10:11:49

BID SECURITY

In accordance with California Public Contract Code Section 20129, all bids shall be accompanied by Bid Security. The Bid Security may consist of cash, cashier's check made payable to the County, certified check made payable to the County, or a Bid Bond executed by an admitted surety insurer made payable to Placer County.

The amount of the Bid Security shall not be less than ten percent (10%) of the total amount of the bid. For the purposes of this Section, "the amount of the bid" does not include alternates, if any. The signature of the Surety on the Bid Bond shall be notarized and accompanied by a duly authorized Power of Attorney as evidence of his/her authority, if executing as attorney-in-fact for the Surety.

The cash, cashier's check, certified check or Bid Bond shall be given as a guarantee that the successful bidder will enter into a written contract within ten (10) days after being requested to do so and will be considered as the stipulated amount of liquidated damages in the event the bidder is unable to or refuses to execute a contract for the work. Upon an award to the successful bidder, the security of unsuccessful bidders shall be returned in a reasonable period of time.

Electronic Bid Submissions:

If the bidder elects to submit an electronic bid response, the following documents must be attached to the electronic bid response in bids&tendersTM:

- Bid Security Election Form (required for all electronic submissions)
- Scanned copy of the Bidder's executed Bid Bond (required if not submitting cash, cashier's check, certified check or digital Bid Bond). **SEE BELOW**
- Scanned copy of Cashier's Check or Certified Check (required if not submitting a Bid Bond, Digital Bid Bond or cash). **SEE BELOW**
- Digital Bid Bond (required if not submitting cash, cashier's check, certified check or scanned Bid Bond)
- Power of Attorney (required for Bid Bonds if signature of Surety is executing as attorney-in-fact for the Surety)
- Notary Documentation (required for all Bid Bonds)

**The cash, original cashier's check, original certified check, or original executed bid bond must be received at the Office of Procurement Services at 2964 Richardson Drive, Auburn, CA 95603, NOT LATER THAN 48 HOURS AFTER THE BID CLOSING TIME, excluding weekends and County holidays. Bid security shall be submitted in a sealed envelope addressed to the Procurement address above with the Project name and Bid number identified. The security type submitted by the bidder must match the security type indicated by the bidder on the Bid Security Election Form. MISMATCHED SECURITY TYPES OR FAILURE TO SUBMIT THE REQUIRED INFORMATION BY THE DEADLINE SPECIFIED ABOVE WILL RENDER YOUR BID NON-RESPONSIVE.

The information on the original bid bond including, but not limited to, surety, dates, names, signatures, power of attorney and notary documentation must match the information on the bid bond copy that was submitted with the electronic bid response. DISCREPANCIES BETWEEN THE ORIGINAL BID BOND AND COPY MAY RENDER YOUR BID NON-RESPONSIVE.

Hard Copy Bid Submissions:

If the bidder elects to submit a hard copy bid response, the Bid Security (cash, cashier's check, certified check or original executed Bid Bond) must be enclosed with the sealed bid. Bidders who submit hard copy bid responses in lieu of electronic bid submissions are not required to submit the Bid Security Election Form.

• Bid Bond / Security - Bid Bond.pdf - Monday August 01, 2022 13:49:53

I acknowledge that I have the authority to bind the Company and submit this bid on behalf of the Company. - Eric Stannard, Vice President Public Works, A. Teichert & Son, Inc. dba Teichert Construction

The Applicant declares that there is an actual or potential Conflict of Interest relating to the preparation of its submission, and/or the Applicant foresees an actual or potential Conflict of Interest in performing the contractual obligations contemplated in the bid. **Yes No**

The Bidder acknowledges and agrees that the addendum/addenda below form part of the Bid Document

Please check the box in the column "I have reviewed this addendum" below to acknowledge each of the addenda.

File Name	I have reviewed the below addendum and attachments (if applicable)	Pages
Addendum 2 Tue July 26 2022 01:30 PM	R	9
Addendum 1 Wed July 20 2022 01:38 PM	R	1



Procurement Services Division 2964 Richardson Drive • Auburn, CA 95603 (530) 886-2122

20299 - 2022 ROADWAY RUBBERIZED HOT MIX ASPHALT OVERLAY & SURFACE TREATMENT PROJECT

Opening Date: July 8, 2022 3:00 PM

Closing Date: August 2, 2022 11:00 AM

To ensure a complete and timely response, it is strongly recommended that you submit your bid response via our Online Bidding System. However, if you have difficult submitting your bid online or prefer to submit your bid manually (hard-copy) for any reason, print and complete this bid package along with any required bid documents, and mail or deliver in a sealed envelope to:

Placer County Procurement Services Division

2964 Richardson Drive

Auburn, CA 95603

All bids must be submitted on original documents (no fax bids) prior to the Closing Date and Time specified above and as prescribed in this bid's General Terms and Conditions. All bids must be signed by an authorized representative of the firm. UNSIGNED OR LATE BIDS WILL BE REJECTED.

Vendors shall complete the area below for hard copy submissions:

COMPANY NAME:		
Mailing Address:		
City/State/Zip:		
Contact Person:		
Telephone:		
Email:		
SIGNATURE:		
DATE:		
Title:		
ature above, bidder hereby a	agrees to and accepts the terms, conditions and requirements spe	cified in this bid

By signature above, bidder hereby agrees to and accepts the terms, conditions and requirements specified in this including the following bid documents and all related addenda (if any).

Vendor Details

Company Name: MARTIN BROTHERS CONSTRUCTION Does your company conduct business under any other name? If NO yes, please state: 8801 FOLSOM BLVD SUITE 260 Address: SACRAMENTO, CA 95826 Contact: Connie Dennis Email: estimating@martinbrothers.net Phone: 916-381-0911 135 Fax: 916-381-1447 HST#: 68-0377885

Submission Details

Created On:	Wednesday July 20, 2022 08:59:17
Submitted On:	Tuesday August 02, 2022 10:53:06
Submitted By:	Connie Dennis
Email:	estimating@martinbrothers.net
Transaction #:	a704d0a8-af23-47e5-b378-4ff936bb9249
Submitter's IP Address:	216.93.239.146

Area 1: Western Placer County

INSTRUCTIONS:

- Asterisk (*) denotes a Mandatory field.
- Do not enter \$0.00 unless you are offering the item at no cost, or it is otherwise included in your total cost.

Pursuant to the Notice to Bidders, and in compliance with the bid instructions, having reviewed the Bid Documents and specifications, the undersigned hereby proposes to furnish all labor, tools, materials, transportation, equipment, services and other means of construction necessary for 2021 Roadway Hot Mix Asphalt Overlay Project for the unit prices listed below.

Line Item	P-F-W	Bid Item No.	Bid Item Description	Unit of Measure	Estimated Quantity	Unit Price *	Extended Amount
1		120100	TRAFFIC CONTROL SYSTEM (AREA 1)	LS	1	\$55,569.1000	\$ 55,569.10
2		128651	PORTABLE CHANGEABLE MESSAGE SIGN (AREA 1)	EA	3	\$2,250.0000	\$ 6,750.00
3		130200	WATER POLUTION CONTROL PROGRAM	LS	1	\$10,750.0000	\$ 10,750.00
4		398200	COLD PLANE ASPHALT CONCRETE PAVEMENT	SQYD	4040	\$5.8500	\$ 23,634.00
5		393004A	GLASGRID (GG8501)	SQYD	11200	\$6.7000	\$ 75,040.00
6		390135	HOT MIX ASPHALT (LEVELING)	TON	235	\$327.0000	\$ 76,845.00
7		390137	RUBBERIZED HOT MIX ASPHALT (GAP GRADED 1/2" PG 64-16)	TON	2000	\$238.0000	\$ 476,000.00
8		12743	4" THERMOPLASTIC TRAFFIC STRIPE	LF	260	\$1.2500	\$ 325.00
9		846009	8" THERMOPLASTIC TRAFFIC STRIPE	LF	9932	\$1.7500	\$ 17,381.00
10		840516	THERMOPLASTIC PAVEMENT MARKINGS	SQFT	858	\$4.5500	\$ 3,903.90
11		870111	INDUCTIVE LOOP DETECTOR	EA	6	\$1,000.0000	\$ 6,000.00
12		378000A	TYPE 2 MICROSURFACE	TON	483	\$439.0000	\$ 212,037.00
13		370000A	ASPHALT RUBBER CHIP SEAL	SY	89190	\$6.3000	\$ 561,897.00
14		780258	ADJUST MANHOLE FRAME AND COVER	EA	23	\$1,650.0000	\$ 37,950.00
15		710208	ADJUST VALVE FRAME AND COVER TO GRADE	EA	17	\$1,650.0000	\$ 28,050.00
16		999990	MOBILIZATION (AREA 1)	LS	1	\$41,000.0000	\$ 41,000.00
						Subtotal	\$ 1,633,132.00

Area 2: Eastern Placer County

INSTRUCTIONS:

- Asterisk (*) denotes a Mandatory field.
- Do not enter \$0.00 unless you are offering the item at no cost, or it is otherwise included in your total cost.

Pursuant to the Notice to Bidders, and in compliance with the bid instructions, having reviewed the Bid Documents and specifications, the undersigned hereby proposes to furnish all labor, tools, materials, transportation, equipment, services and other means of construction necessary for 2021 Roadway Hot Mix Asphalt Overlay Project for the unit prices listed below.

Line Item	P-F-W	Bid Item No.	Bid Item Description	Unit of Measure	Estimated Quantity	Unit Price *	Extended Amount
1		120100	TRAFFIC CONTROL SYSTEM (AREA 2)	LS	1	\$40,000.0000	\$ 40,000.00
2		128651	PORTABLE CHANGEABLE MESSAGE SIGN (AREA 2)	EA	3	\$2,250.0000	\$ 6,750.00
3		130200	WATER POLUTION CONTROL PROGRAM	LS	1	\$8,000.0000	\$ 8,000.00
4		398200	COLD PLANE ASPHALT CONCRETE PAVEMENT	SQYD	2400	\$7.5700	\$ 18,168.00
5		393004	GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING FABRIC)	SQYD	57000	\$2.4700	\$ 140,790.00
6		390000A	FIBER REINFORCED HOT MIX ASPHALT (TYPE A - 1/2" PG 64-28)	TON	7420	\$233.0000	\$ 1,728,860.00
7		780258	ADJUST MANHOLE FRAME AND COVER	EA	37	\$1,250.0000	\$ 46,250.00
8		710208	ADJUST VALVE FRAME AND COVER TO GRADE	EA	57	\$1,250.0000	\$ 71,250.00
9		710208	ADJUST DRAINAGE INLET / COM VAULT FRAME AND COVER TO GRADE	EA	3	\$2,000.0000	\$ 6,000.00
10		999990	MOBILIZATION (AREA 2)	LS	1	\$40,000.0000	\$ 40,000.00
						Subtotal:	\$ 2,106,068.00

Summary Table

Bid Form	Amount
Area 1: Western Placer County	\$ 1,633,132.00
Area 2: Eastern Placer County	\$ 2,106,068.00
Subtotal Contract Amount:	\$ 3,739,200.00

List of Proposed Substitutions

Pursuant to Public Contract Code Section 3400, the following substitutions are proposed as "Equals" for those set forth in the Contract. All data substantiating the proposed substitutions shall be submitted to the County upon request.

Contract Section *		Name and Manufacturer of Proposed Product To Be Substituted *	Model/Quantity of Proposed Product *
NOT APPLICABLE	NOT APPLICABLE	NOT APPLICABLE	NOT APPLICABLE

Contractor License and PWC Registration Numbers

Contractor License

The successful bidder shall possess a valid Contractor License issued by the State of California at the time of opening of the bids and for the duration of the contract. Provide your license information below.

Department of Industrial Relations Public Works Contractor (PWC) Registration

All contractors and subcontractors who bid on public works projects must be registered with the Department of Industrial Relations, pursuant to Labor Code section 1725.5.

Provide your PWC registration number below.

License Type *	License Number *	License Expiration Date *	PWC (DIR) Registration Number *	
A	726454	8/31/2022	100000017	*

List of Subcontractors

Enter firm name, city, state, California contractor license number, and public works contractor registration number for each subcontractor performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104). If no subcontractors will be used, enter "None".

Line Item Business Name Location City State California Contractor License Public Works Contractor DIR Registration Number DBE (Y/N)

Bob's Tree Compa	any Weimar	CA	1234567	98765432
Ben's Paving	Penryn	CA	99991010	53074535

Line Item	Business Name *	Location City *	State *	California Contractor License Number *	Public Works Contractor DIR Registration Number *
1	PACIFIC NORTHWEST OIL	STOCKTON	CA	705296	1000377635
2	CHRISP COMPANY	WOODLAND	CA	374600	100000306
-	PAVEMENT COATINGS CO	SACRAMENTO	CA	303609	1000003382
4	FARWEST SAFETY INC	LODI	CA	523187	1000001371

Portion of Work Subcontracted

Enter firm name, bid item numbers, percentage of each bid item numbers, and description of work for each of your subcontractors performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104).

Item Field:

1 2

• Enter single bid item numbers and percentage of bid item performed by subcontractor on each line of the Subcontractor List. Do not enter words in the Item Number field.

Description Field:

- If the percentage of the bid item work is less than 100%, list the description of the portion of work to be subcontracted (Eg. tree removal portion of clear and grub Bid Item 1).
- List sequential items that are 100% in a range as follows: Items 77-80.
- List non-sequential items that are 100% in a list separatated by commas as follows: Items 95, 97, 99.
- If no subcontractors will be used for this project, enter "None".

Subcontractor	Item	Percentage (%) Description
Bob's Tree Co	. 1	50%	Tree Removal
Ben's Paving	23-35, 37, 39, 41	1 100%	

Subcontractor *	Item *	Percentage (%) *	Description *
PACIFIC NORTHWEST OIL	5, 20	100	PAVEMENT GRID / PAVING FABRIC
CHRISP COMPANY	7-9		THERMOPLASTIC TRAFFIC STRIPE / PAVEMENT MARKINGS
PAVEMENT COATINGS CO	11, 12 1	100 30	MICROSURFACING / CHIPSEAL TRAFFIC CONTROL FOR OWN SCOPE
FARWEST SAFETY INC	1, 16		FLAGGING FLAGGING

Documents

Yes

No

Upload the forms described below.

- Non-Collusion Affidavit 1. 20299 Non Collusion Affidavit MBC SIGNED.pdf Monday July 25, 2022 10:39:16
- Public Contract Code Statement 2. 20299 Public Contract Code Statements MBC SIGNED.pdf Monday July 25, 2022 10:39:52
- Equal Employment Opportunity Certificate 3. 20299 Equal Employment Opportunity Certification_MBC SIGNED.pdf Monday July 25, 2022 10:40:25
- Debarment and Suspension Certification 4. 20299 Debarment and Suspension Certification_MBC SIGNED.pdf Monday July 25, 2022 10:53:41
- Bid Security Election Form 5. 20299 Bid Security Election Form_MBC.pdf Monday July 25, 2022 10:54:11
- Additional Document (optional)

BID SECURITY

In accordance with California Public Contract Code Section 20129, all bids shall be accompanied by Bid Security. The Bid Security may consist of cash, cashier's check made payable to the County, certified check made payable to the County, or a Bid Bond executed by an admitted surety insurer made payable to Placer County.

The amount of the Bid Security shall not be less than ten percent (10%) of the total amount of the bid. For the purposes of this Section, "the amount of the bid" does not include alternates, if any. The signature of the Surety on the Bid Bond shall be notarized and accompanied by a duly authorized Power of Attorney as evidence of his/her authority, if executing as attorney-in-fact for the Surety.

The cash, cashier's check, certified check or Bid Bond shall be given as a guarantee that the successful bidder will enter into a written contract within ten (10) days after being requested to do so and will be considered as the stipulated amount of liquidated damages in the event the bidder is unable to or refuses to execute a contract for the work. Upon an award to the successful bidder, the security of unsuccessful bidders shall be returned in a reasonable period of time.

Electronic Bid Submissions:

If the bidder elects to submit an electronic bid response, the following documents must be attached to the electronic bid response in bids&tenders TM:

- Bid Security Election Form (required for all electronic submissions)
- Scanned copy of the Bidder's executed Bid Bond (required if not submitting cash, cashier's check, certified check or digital Bid Bond). **SEE BELOW**
- Scanned copy of Cashier's Check or Certified Check (required if not submitting a Bid Bond, Digital Bid Bond or cash). **SEE BELOW**
- Digital Bid Bond (required if not submitting cash, cashier's check, certified check or scanned Bid Bond)
- Power of Attorney (required for Bid Bonds if signature of Surety is executing as attorney-in-fact for the Surety)
- Notary Documentation (required for all Bid Bonds)

**The cash, original cashier's check, original certified check, or original executed bid bond must be received at the Office of Procurement Services at 2964 Richardson Drive, Auburn, CA 95603, NOT LATER THAN 48 HOURS AFTER THE BID CLOSING TIME, excluding weekends and County holidays. Bid security shall be submitted in a sealed envelope addressed to the Procurement address above with the Project name and Bid number identified. The security type submitted by the bidder must match the security type indicated by the bidder on the Bid Security Election Form. MISMATCHED SECURITY TYPES OR FAILURE TO SUBMIT THE REQUIRED INFORMATION BY THE DEADLINE SPECIFIED ABOVE WILL RENDER YOUR BID NON-RESPONSIVE.

The information on the original bid bond including, but not limited to, surety, dates, names, signatures, power of attorney and notary documentation must match the information on the bid bond copy that was submitted with the electronic bid response. DISCREPANCIES BETWEEN THE ORIGINAL BID BOND AND COPY MAY RENDER YOUR BID NON-RESPONSIVE.

Hard Copy Bid Submissions:

If the bidder elects to submit a hard copy bid response, the Bid Security (cash, cashier's check, certified check or original executed Bid Bond) must be enclosed with the sealed bid. Bidders who submit hard copy bid responses in lieu of electronic bid submissions are not required to submit the Bid Security Election Form.

• Bid Bond / Security - 6. 20299 Bidders Bond_MBC SIGNED & NOTARIZED.pdf - Monday July 25, 2022 10:44:39

Addenda, Terms and Conditions

■ I acknowledge that I have the authority to bind the Company and submit this bid on behalf of the Company. - FELIPE MARTIN, PRESIDENT, MARTIN BROTHERS CONSTRUCTION

The Applicant declares that there is an actual or potential Conflict of Interest relating to the preparation of its submission, and/or the Applicant foresees an actual or potential Conflict of Interest in performing the contractual obligations contemplated in the bid. **Yes No**

The Bidder acknowledges and agrees that the addendum/addenda below form part of the Bid Document

Please check the box in the column "I have reviewed this addendum" below to acknowledge each of the addenda.

File Name	I have reviewed the below addendum and attachments (if applicable)	Pages
Addendum 2 Tue July 26 2022 01:30 PM	M	9
Addendum 1 Wed July 20 2022 01:38 PM	M	1